1. 7—%%&v b
## 47 -Jalldata (1991/1-2004/408l, &F), AEDtimeseriesT —4) ##
alldata.r <- getReturns(alldata,type="discrete") #IUISREH

assetnames <- colnames (alldata.r)

## FHRMMGAT ~fantedata (1991/1-2003/408k MM, %], A& DtimeseriesT —%) ##

antedata.r <- getReturns (antedata, type="discrete")

## FHFMMT ~Jpostdata 2003/4-2004/4DkAlli, £, ZFDtineseriesT —%) ##
postdata <- as.matrix(seriesData (postdata))

temp <- t(postdatal,l:country])/postdatal[l,l:country] #EMOWHEEZ 11295
postdatal[, l:country] <- t(temp)

etemp <- postdatal, (country+l) : (2*country-1)]

rftemp <- postdatal, (nv-country+2) :nv]

rdtemp <- postdatal,"JPY"]

ftemp <- etemp* (1+rdtemp)/ (1+rftemp)

postdata.list <- list (Pd=postdatal,1l],Pf=postdatal,2:country],e=etemp, rd=rdtemp, f=ftemp)

2. SEATAH

> J U AR

NPATH <- 2000 #v AH

NT <- 3 #I

## B EATY, FEGRSR, PIME #4

d0 <- postdatall,] #HIHME

d0 <- as.matrix (d0)

Q <- var (antedata.r) #5r BAT S
rbar <- apply(antedata.r,2,mean) # LIS
rvar <- apply(antedata.r,2,var) #7HK

N AERL #4

seed.saved <- .Random.seed

pass.list <- GBM.pass (d0,rbar, rvar,Q) #26nf 7" I BB X AN AR EIE

## L ~Dinput HICEE T3 #4

senario.list <- senario.data (pass.list) #&E{L~Dinput? ~HIZE T4 5B
i THNAT Vavflikg, ~ AT

senario.ao <- senario.aoption (pass.list) #&E{L~DTAINAT Vav-7 -3 DRI



NEH 70T 4T
nmu <- 9 g0 R LAl
mu <- 0.025  #FEREIFFINAE HRmu D #IHHE

seq <- 0.001 #mu®dZ|Iig

BN TIIORIE #4

alpha <- 0.95 #VaRD K A

WO <- 10000 HRTE N

#mu <- 0.02 FE SRR AR =R
ted <- 0.00005  #HeBlazl (ENEE)
tcf <- 0.00005  #HuBlazk (SHEEE)

# 1L #

r.cvar.mat.a <- matrix (NULL, nrow=nmu,ncol=3) #VaR, CVaR, HIFFIN 5 =R

colnames (r.cvar.mat.a) <- c("vVaR","CvaR", "HifFILZER")

a.ratio.array.a <- array(NULL,dim=c (NT,country+1l,nmu)) R E Lk ERarray

dimnames (a.ratio.array.a) <- list (0: (NT-1),c ("84, "HA", KE", "FEE", "AA A", "hFHn, nF—
AKNZ YT ™) ,NULL)

h.ratio.array.a <- array (NULL,dim=c (NT, country-1,nmu)) #~v UtFarray

dimnames (h.ratio.array.a) <- list(0: (NT-1),c ("KE", "HEE", "AAL A" "hF L nF—A T UT

"), NULL)

for(i in 1:nmu) {
module (nuopt,unload=T) #b—7AEV %7 V775
module (nuopt)
sys.aoption <-
System (model=multistage.op.aoption,alpha,W0,mu, senario.list,NT,NPATH, tcd, tcf, senario.ao)

sol.aoption <- solve(sys.aoption)

# FBE(EOFEROmY HL 4

vd0 <- as.array(current (sys.aoption,vd0))
vd0 <- as.vector (vdO0)

zd0 <- as.array(current (sys.aoption,zd0))
zd0 <- as.vector (zd0)

zf0 <- as.array(current (sys.aoption,zf0))
zf0 <- as.vector (z£f0)

zd <- as.array(current (sys.aoption,zd))
zd <- as.vector (zd)

zf <- as.array(current (sys.aoption,zf))



vd <- as.array(current (sys.aoption,vd))

nao <- as.array(current (sys.aoption,nao))

W <- as.array(current (sys.aoption,W)) HEPE
Wl <- as.array(current (sys.aoption,Wl))

VaR <- as.array(current (sys.aoption,VaR))

CVaR <- as.array(current (sys.aoption,CVaR))

r.cvar.mat.a[i,] <- c(VaR,CVaR,mu)

a.ratio.array.al,,1i] <- a.ratio.result (vd0,zd0,z£f0,zd,zf,vd,W,Wl,senario.list)
zfl<-rbind(zf0,z£f[-NT,])

h.ratio.array.al[,,1i] <- t(nao)/zfl

mu <- mu + seq #mu D FHT

3. &R
N TAIOBRE 4
mu <- 0.025 #ESRIFFIN AR =R
it <= 12 AR 2 A
# =)0 KRR 4
rolingmean <- aggregateSeries(alldata.r,moving=nrow(alldata.r)-it,adj=1, FUN=mean)
rolingmean <- as.matrix (seriesData (rolingmean))
rolingvar <- aggregateSeries(alldata.r,moving=nrow(alldata.r)-it,adj=1, FUN=var)
rolingvar <- as.matrix (seriesData (rolingvar))
rolingvar.mat <-
aggregateSeries (alldata.r,together=T,moving=nrow(alldata.r)-it,adj=1, FUN=var)

rolingvar.mat <- as.matrix(seriesData(rolingvar.mat))

# TAVIAT vay DFTEV-} #
a <- l+rdtemp
az <- l+rftemp
for(i in 1:(ni-2)){
ali] <- a[i]l*ali+l]*al[i+2]
a2[i,] <= az[i,]*a2[i+l,]1*a2[i+2,]
}
a[ni-1] <- a[ni-1]*a[ni]
a2[ni-1,]1 <- a2[ni-1,]*a2[ni,]
f3 <- etemp*a/a2

KO <- f£3[-ni,]



## PIIE #4

V.a <- c(WO0,rep (NA,it)) #EREN T AL
a.ratio.a <- matrix (NA,nrow=it,ncol=country+1) #&PERy R
colnames (a.ratio.a) <- c("?ﬁé?",assetnames[l:country])
h.ratio.a <- matrix (NA,nrow=it,ncol=country-1) #ayV L3R
colnames (h.ratio.a) <- assetnames[2:country]

nao.mat <- matrix(0,ncol=country-1,nrow=it) #17° Va A& A T

ao.cf <- array(0,dim=c (it,it+2, country-1)) S VANEVANE il

for(i in 1:it){
4 WIIME, SEEINERE, S, B HATIIORE #4
b0 <- postdatali,]

b0 <- as.matrix (b0)

Q1 <- matrix(rolingvar.mat[i,],nrow=nv,ncol=nv) # B A TA
rbarl <- rolingmean|i, ] #EJUNAR R

rvarl <- rolingvar/[i,] #4531

# N AERR #

.Random.seed <- seed.saved
pass <- GBM.pass (b0, rbarl,rvarl,Ql)
# L ~Dinput DHIZEET 5 #
senario.listl <- senario.data (pass)
# THOAT valiks, ~N 417 #
senario.aol <- senario.aoption (pass)
# AL #
module (unload=T)
module (nuopt)
sys.aoption <-

System (model=multistage.op.aoption,alpha, W0, mu, senario.listl,NT,NPATH, tcd, tcf, senario.aol)

sol.aoption <- solve(sys.aoption)

# BOEALOREROMY L 4

vd0 <- as.array(current (sys.aoption,vdo0))
vd0 <- as.vector (vdO0)

zd0 <- as.array(current (sys.aoption,zd0))
zd0 <- as.vector (zd0)

zf0 <- as.array(current (sys.aoption,zf0))
zf0 <- as.vector (z£f0)

nao <- as.array(current (sys.aoption,nao))



nao0 <- naol[,1]

nao.mat[i,] <- naoO0

Pd0 <- b0[1]

Pf0 <- bO[2:country]

el <- bO[ (country+l) : (2*country-1)]
a.ratio.ali,]<-c(vd0,Pd0*zd0,Pf0*e0*zf0) /V.a[1i]

h.ratio.a[i,]1<-nao0/zf0

apay <- senario.aol$payoff.al[,-NT,,1]
rda<-passS$rd[,c(-1,—-(NT+1))]
rda.temp <- array(rep(rda,country-1),dim=c (NPATH,NT-1,country-1))
cf <- apay*exp (-rda.temp)
cfbar <- apply(cf,c(2,3),mean)
ea <- postdata.listS$e[-1,]
for(m in 1: (country-1)){
if(KO[i,m]-eal[i,m]>cfbar[1l,m]) {
ao.cfl[i,i,m] <- KO[i,m]-ea[i,m]
}
for(j in 2: (NT-1)) {
if (sum(ao.cf[i,,m]==0)==0) {
if(KO[i,m]-ea[i+]-1,m]>cfbar[j,m]) {

ao.cfl[i,i+j-1,m] <- KO[i,m]-eal[i+j-1,m]

}
if (sum(ao.cf[i,,m]==0)==0) {
1if(KO[i,m]-ea[i+NT-1,m]>0) {

ao.cf[i,1i+NT-1,m] <- KO[i,m]-ea[i+NT-1,m]

}

V.a[i+1l] <- postdata.list$Pd[i+1]*zd0* (1-tcd) + (l+postdata.list$rd[i])*vd0 +
sum (postdata.list$Pf[i+1, ] *postdata.list$e[i+1,]1*z£f0)* (1-tcf)+sum(nao.mat*ao.cf[,1,
1)

WO <- V.al[i+1]



4. BEOERR
/N RE/TIYE LSM put BSKESE

LSM.put <- function (stock,K,rf, ORDER) {

npath <- nrow (stock) #3 2y

NT <- ncol (stock) #HRI% (oM Z &)
option.cashflow <- matrix (NA,nrow=npath,ncol=NT-1)

cashflow <- K-stock[,NT] #Hii kv yYa7n—, max (K-S, 0)

cashflow[cashflow<0] <- 0

for(t in (NT-1):2){

exerval <- K-stock[,t] #THANAE, max (K-S, 0)

exerval [exerval<0] <- 0

x <- stock[,t][exerval>0] #an B ZR 45
y <- cashflow[exerval>0]*exp (-rf[,t] [exerval>0]) #HAIBI%
kaiki <- 1m(y~poly (x,ORDER)) #ORDERIK D AR X 5 [Al)7
contval <- exerval oy T Y =N

contval [contval>0] <- kaiki$fitted.values
option.cashflow[,t] <- cashflow
cashflow <- exerval #cashflowEHr

cashflow[exerval<contval] <- 0

# LRER DT VaATHE R O vyvaTn-DWRGE #
cashflow <- exerval
cashflow[exerval<contval] <- 0

option.cashflow[,1] <- cashflow

# AR OMIEIZ0 #
for (i in 2: (NT-1)) {
for(j in 1l:npath) {
if (sum(option.cashflow([j,1: (1-1)1>0)>0) {

option.cashflow[]j,1i] <= 0

}
# 47" va S, A7 vavkyyvaTe-0E5] ¢
temp <- option.cashflow[,NT-1]*exp(-rf[,NT-1])+option.cashflow[,NT-2]

1£(NT>3) {



for(t in (NT-2):2){

temp <- temp*exp (-rf[,t])+toption.cashflow[,t-1]

temp <- temp*exp (-rf[,1])

option.price <- mean (temp)

return (option.price,option.cashflow)

BB K A It 747 vay O EEAN Bk

M.e.put <- function(stock,K,rf) {

NT <- ncol (stock)
if (ncol (rf)==2) {

rf <- sum(rf[,-NT])
telse(

rf <- apply(rf[,-NT],1,sum)
}
option.cashflow <- K-stock[,NT]
option.cashflow[option.cashflow<0] <- 0
temp <- option.cashflow*exp (-rf)
option.price <- mean (temp)

return (option.price,option.cashflow)

N AR G770 EE) ORABES

GBM.pass <- function (d0, rbar,rvar, Q) {

epsilon <- rmvnorm (NPATH*NT, cov=Q) # % B E RS A
epsilon.array <- array(epsilon,dim=c (NPATH,NT,nv))
pass.array <- array (NA,dim=c (NPATH,NT+1,nv)) # ABCH b
for(i in 1:NT) {
for(j in 1:nv) {
pass.arrayl[,1,3j] <- d0[7]
pass.arrayl[,1i+1l,]j] <-
pass.arrayl[,i,jl*exp(rbar[j]-0.05*rvar[jl+tepsilon.arrayl[,i,]j])
}
}

Pd <- pass.arrayl[,,1]

Pf <- pass.arrayl,,2:country]



rd <- pass.arrayl,,nv-country+1]

rf <- pass.arrayl,, (nv-country+2) :nv]

rd.temp <- array(rep(rd,country-1),dim=c (NPATH,NT+1,country-1))
e <- pass.arrayl[,, (country+l) : (nv-country) ]

f <- e* (1+rd.temp)/ (1+rf)

pass.list <- list (Pd=Pd,Pf=Pf,rd=rd,rf=rf,e=e, f=1f)

pass.list

T b~Dinput DRI EF 4 5 B

senario.data <- function (pass.list) {

Pd0 <- pass.list$pPd[1,1]

Pf0 <- pass.list$Pf[1,1,]

e0 <- pass.list$e[l,1,]

rd0 <- pass.list$rd[1l,1]

rf0 <- pass.listS$rf[l,1,]

f0 <- pass.listS$f[1,1,]

Pd <- pass.list$Pd[,-1] #RIHIE A b <
Pf <- pass.list$Pf[,-1,]

e <- pass.listSel[,-1,]

f <- pass.list$f[,-1,]

rd <- pass.list$rd[,-1]

fvar <- apply(f,c(2,3),mean)

list (rd0=rd0, PdO=Pd0, Pf0=P£f0,e0=e0, f0=£0, rd=rd, Pd=Pd, Pf=Pf, e=e, f=f, fvar=£fvar)

B b ~DT Ay 47" vavs SR B (LsMoDjE )
senario.aoption <- function (pass.list){
# MERATREAMAR (257400 V=) #
Ka.mat <- matrix (NA,nrow=country-1,ncol=NT) #HEFITHEAITH
# IO R WA -0 V=R #
# FTH-P V- 4

rd.temp <- l+pass.listS$rd[,1:NT]

rf.temp <- l+pass.listS$rf[,1:NT,]
for(i in (NT-1):1) {
rd.temp[,1i] <- rd.temp[,i]*rd.temp[,i+1]

rf.temp[,1i,] <- rf.temp[,i,]*rf.temp(,1i+1,]



rd <- rd.temp[,1: (NT-1)] #EPNEA]T17-1 V-MTF1
rf <- rf.temp[,1: (NT-1),] #HNE AT 717-8 V-MT
temp <- array(rep(rd,country-1),dim=c (NPATH,NT-1,country-1))
e <- pass.listS$e[,1:(NT-1),]
f <- e*temp/rf # AT 470 V- MTHI
# MERIATREAMRS #
Ka.mat[,NT] <- apply(pass.listS$f[,NT,],2,mean)

Ka.mat[,1: (NT-1)] <- t(apply(f,c(2,3),mean))

# EREIRY, MIAI-NAb 4

S.list <- list(pass.listS$e)

rd.list <- list(pass.list$rd)

for(i in 2:NT) {
temp <- pass.listS$Se[,1:(NT+1),]
temp2 <- pass.listSrd[,i: (NT+1)]
S.list <= c(S.list,list(temp))

rd.list <- c(rd.list,list (temp2))

# TAVY A7 vaflikg, ~N A7 #
Pao <- matrix(NA,ncol=NT, nrow=country-1) #47° vaAtiEEA T
payoff.a <- array(0,dim=c (NPATH,NT, country-1,NT)) #i7 Vavd~ (1785
# LSMOiE #
for(m in 1: (country-1)){
for(i in 1:(NT-1)) {
option.temp <- LSM.put(S.list[[i]][,,m],Ka.mat[m,i],rd.list([[i]],2)
Pao[m,i] <- option.temp$Soption.price

payoff.a[,1:NT,m,i] <- option.tempSoption.cashflow

# ARSI - TR a0t 7Yy MRS #
for(m in 1: (country-1)){
option.temp2 <- M.e.put(S.list[[NT]][,,m],Ka.mat[m,NT],rd.1list[[NT]])
Pao[m,NT] <- option.temp2Soption.price
payoff.a[,NT,m,NT] <- option.temp2S$option.cashflow
}
# A7 VARG E 0D DIRD D 4

dimnames (payoff.a) <- list (NULL,NULL,NULL,O: (NT-1))



colnames (Pao) <- 0:(NT-1)
list (Pao=Pao,payoff.a=payoff.a)

}

TAVNAT Vay-noy 7 ) (Vlab—vav R 2 R R L e »)

multistage.op.aoption = function (alpha,W0,mu, senario,NT,NPATH, tcd, tcf, senario.ao) {

HEEOBE
f.Market.set <- Set()
Time.set <- Set()
Senario.set <- Set ()

Option.set <- Set()

#EFRORIE
m <- Element (set =f.Market.set)
t <- Element (set = Time.set)

s <- Element (set = Senario.set)

j <- Element (set = Option.set)

#/3T A—Z DFRIE

alpha <- Parameter (alpha) #VaRD K Y

WO <- Parameter (W0) #WJHIE

mu <- Parameter (mu)

Pd0 <- Parameter (senario$PdO0) #1 PE D W) TR
Pf0 <- Parameter (as.array(senario$Pf0), index=m)

Pd <- Parameter (senario$Pd, index=dprod(s,t)) #E PE DAL

Pf <- Parameter (senario$Pf, index=dprod(s,t,m))

e0 <- Parameter (as.array(senario$e0), index=m) # I A 9R - )
e <- Parameter (senario$e, index=dprod(s,t,m)) # 4 -}

rd0 <- Parameter (senario$rd0) ##IHIENEF

rd <- Parameter (senario$rd, index=dprod(s,t)) #ENEF]

tcd <- Parameter (tcd)  #HXF[azb

tcf <- Parameter (tcf)

#Pao0 <- Paremeter (Pao0, index=m)

Pao <- Parameter (senario.ao$Pao, index=dprod(m,j)) #17 Va/flik&

payoff <- Parameter (senario.ao$payoff.a,index=dprod(s,t,m,j)) #17 vavd~ (17



vd0 <- Variable () #ENBEE &
zd0 <- Variable () #ENHEAGER &

zf0 <- Variable (index=m) #AMERRRGE A &

vd <- Variable (index=dprod(s,t))

zd <- Variable (index=t)

zd.b <- Variable (index=t) #EPNFERAIE AR

zd.s <- Variable (index=t) #ENKEREHI&E

zf <- Variable (index=dprod (t,m))

zf.b <- Variable (index=dprod(t,m))  #IMERRZHEAE
zf.s <- Variable (index=dprod (t,m)) #HMERE TN &

nao <- Variable (index=dprod (m, 7)) #17 va/lEAE

VaR <- Variable ()

y <- Variable (index=s)

#Expression D% i€

Wl <- Expression (index=s)

Wl[s] ~ Pd[s,1]*zd0*(1-tcd) + (1+rd0)*vd0 + Sum(Pf[s,1l,m]*zf0[m]*e[s,1l,m]*(1-tcf) +
nao[m,0] *payoff[s,1,m,0],m)

W <- Expression (index=dprod(s,t))

W[s,t,t>=2] ~ Pd[s,t]*zd[t-1]*(1l-tcd) + (l+xrd[s,t-11)*vd[s,t-1] +

Sum (Pf[s,t,m]*zf[t-1,m]*e[s,t,m]*(1-tcf) + Sum(nao[m,]j]*payoff(s,t,m,3],7,j<=t-1),m)

# H BB
CVaR <- Objective (type="minimize")

CVaR ~ VaR + Sum(y[s],s)/ (NPATH* (1-alpha))

#ilFIROBE
#OREA T ORI E
Pd0*zd0* (1+tcd) + vd0 + Sum(P£0[m]*z£f0[m]*e0[m]* (1+tcf) + naolm,0]*Pao[m,0],m) == WO
HERE R
zd[1] == zd0 + zd.b[1] -zd.s[1]
zf[1,m] == zf0[m] + zf.b[l,m] -zf.s[l,m]
zd[t,t>=2, t<=NT-1] == zd[t-1] + zd.b[t] - zd.s[t]

zf[t,m,t>=2,t<=NT-1] == zf[t-1,m] + zf.b[t,m] - zf.s[t,m]



#Rooyaen TUAGME

zd.b[1]*Pd[s,1]*(1+tcd) + Sum(zf.b[l,m]*Pf[s,1l,m]*e[s,1l,m]*(1l+tcf) + nao[m,l]*Pao[m,1],m) +
vd[s,1l] == zd.s[l]*Pd[s,1]*(1l-tcd) + (1+rd0)*vd0 +
Sum(zf.s[l,m]*Pf[s,1l,m]*e[s,1l,m]*(1-tcf) + nao[m,0]*payoff[s,1l,m,0],m)

zd.b[t,t>=2,t<=NT-1]*Pd[s,t]*(1l+tcd) + Sum(zf.b[t,m]*Pf[s,t,m]*e[s,t,m]* (1l+tcf) +
nao[m,t]*Pao[m,t],m) + vd[s,t] == zd.s[t]*Pd[s,t]*(l-tcd) + (l+rd[s,t-1])*vd[s,t-1] +

Sum(zf.s[t,m]*Pf[s,t,m]*e[s,t,m]*(1-tcf) + Sum(nao[m,]j]*payoff(s,t,m,3],7j,j<=t-1),m)

(Sum(W[s,NT],s)/NPATH) /W0-1 >= mu

vd0 >= 0

zd0 >= 0

zf0[m] >= nao[m,0] >= 0
vd[s,t,t<=NT-1] >= 0

zd.b[t,t<=NT-1] >= 0

zf.b[t,m, t<=NT-1] >= 0

zd.s[1l] >= 0

zf.s[1l,m] >= 0

zd[t-1] >= zd.s[t,t>=2,t<=NT-1] >= 0
zf[t-1,m] >= zf.s[t,m,t>=2,t<=NT-1] >= 0
zd [NT-1] >= 0

(Sum (Pf[s,t,m],s)/NPATH) *zf[t,m, t<=NT-1] >= nao[m,t] >= 0

y[s] + VaR + (W[s,NT]/W0-1) >= 0
y[s] >= 0
}

B PE P e R B H B SR

a.ratio.result <- function (vdO0, zd0,zf0,zd,zf,vd,W,Wl, senario) {

vdbar <- apply(vd[,-NT],2,mean) #I04
vvd <- c(vd0,vdbar)

vzd <- c(zd0,zd[-NT]) #&&&

pdl <- senario$Pd[,-NT]

pdlbar <- apply(pdl,2,mean)

vpdl <- c(senario$Pd0,pdlbar) # ¥l
vpd <- vpdl*vzd #VHBREEH

zfl <- zf[-NT,]



e

vzf <- rbind(zf0,zfl) PG
pfl <- senario$Pf[,-NT, ]

el <- senarioS$el[,-NT, ]

pfel <- pfl*el

pfelbar <- apply(pfel,c(2,3),mean)

vpfel <- rbind(senario$el*senario$Pf0,pfelbar)

vpf <- vpfel*vzf

mat.a <- rbind(vvd,vpd,t (vpf))

# PRIBE HRAE Y ¢

W[,1] <- Wl

wl <- W[,-NT]

wbar <- apply(wl,2,mean)

vwl <- c(WO0,wbar)  #V¥E
mat.r <- t(mat.a)/vwl #&ELHR

mat.r



